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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
I

A

Ry

N NS

o ~—

400

o

A

fl "y

[W VY

Liner—

o__

200 N

\J

!

v

\

[l

100

50

125 150

30.0

27.5

25.0

22.5

20.0

17.5

VAV

15.0 J

12.5

175

80

75

|
—— RH
———  RHopt

70

65 i

60 \
NI A

175

3000

2500

|
—— ETcl
———  optETcl

2000

1500

1000

500

175

3.0

2.5

I -
— LAl

2.0

1.5

1.0

0.5

175

1.4

1
—— optEtRate

1.2

1.0

0.8 \
0.6

of V)
| !

0.2

75

100

125 150

175




350 1~

300 1

250 -

200 -

150

Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]

setVI_ETcl
setVIl fgRec
setVIl_VN
s|SetVI

100

50 A




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Trend plot forP3 0
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